NOTE: ALL MATERIAL COMPLIANT ROHS STANDARD

TTeL  TTLE

M4x12 (x4) M5x12 (x4)

LLTH

M5x20 (x4)

M6x20 (x4)

M8x35 (x4)

000

M8x45 (x4)

REVISION INFORMATION

Rev. | Rev. Date | Modified By Brief Description

SERVE SCREW KIT

4 eeee
oC 0000
D4/D5 (x4) x5mm (x8) x15mm (x4)

®

@

®

NO. PART NAME SPECIFICATION DESCRIPTION QT'Y | UNIT

SCREWS WASHERS
M4x12 (x4) M6x20 (x4) D4/D5 (x4)
M4x20 (x4) M6x35 (x4) D6/D8 (x4)
M5x12 (x4) M8x12 (x4)
M5x20 (x4) M8x20 (x4) SPACERS
M5x30 (x4) M8x35 (x4) x15mm (x4)
M6x12 (x4) M8x45 (x4) x5mm (x8)
NER
~ BESTLINK
Ko N & | A R e
| DRAWN BY | DATE: DESCRIF‘TION:. .
2017/10/16 Screw Service Kit for TV to bracket
| cHeckep sy ||SHEET1of1 |[TEMNO. 502916

| APPROVED BY ||SCALE 11 |[Rev.00  [[uNiT:mm||-@- =






